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Note: Figures to the right indicate full mark of question.

Que.l
() Define limit of a function and also give rules of limit. = .
(b) A car cost Rs. 9,00,000. After 5 years its depreciated value is Rs. 6,00,000. If the

depreciated value is a linear function of time, find the function. Also determine the

number of years when the depreciated value of the car will be 120,0007
(c) Prove that the following function is continuous at x = 0.

flx) = by X%0

X

=1 ,x=0

OR
Que.l ‘
(a) Define function also define domain and co-domain of a function.
(b) Discuss continuity at x = 2
flx)y=5x%-3, x<2
=10x-3, x=2
=8x+1, x>2
(c) Find the following limits.

yiag
x2-1

1-y1-%
x

o 10 -6 . g
(i) lim,,, e (i) limyp

(iif) limy

Que.2

(a) Give rules of determinants.

(b) Verify ) (AUB) = A'nB (i)(AnB) = A'UB' forsets U={ab,c,defg},
A={bsc=d} b B={a,c,f} » C={d,e,g}

2 k -3
3 -2 5
-1 3 2

(c) Find the value of kif = ~114

OR
Que2.
{a) Explain the following sets
(i) Finite set (ii) Union of sets (ii1) Singleton set (iv) Empty set
(v) Complement of a set
(b) Using cramer’s law solve the following equations.
x+y-11=0,2x+5y~16=0
(©If A={234},B=1{0,1,-1} find AXB,BxAand Ax A
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Que3
(a) Give the difference between matrix and determinant.

2 -1 3
(b) Formatrix A =1 1 1] , find the value of A% +44-2]

' 4 5
(c) Find inverse of the following matrix

1 2 3
i) s
3 61

OR
Que.3

{a) Define the following matrices.
(1} Inverse of a matrix (if) Unit matrix (iii) Row matrix (iv) Transpose of a matrix

) Formatices A= [7 ) and B=[1 "% find 4%, AB and 24 - 357

{c) Solve the following equations using inverse of matrix
5y —12y=-4, x~1=6y

Qued .

(a) Give uses of interpolation and extrapolation.

(b} Find annual premium at the age of 42 years from the following data using

~ Newton's method,

Age in years 15 |25 35 |45 |55

Premium(in Rs.) 105 | 124 | 135 | 140 | 148

(¢) Using Langrange's method interpolate u, for x = 6.

x |5 |8 |9 i
ue 13 |2 |5 |10

OR

Que.4

(a) What is interpolation and extrapolatlon ? Give assumpnons of interpolation and
extrapolatlon

(b} Find the missing value in the following table by using bmomlal expansion method.

¥ {3 |10 |15 |20 |25
u, | 148 {157 | 7 | 181 |202

(c) From the following data estimate the value of /7

V3= 173 ,V5=2.24, V6 =245
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Note: Figures to the right indicate full mark of question.
Que.1
(@) QB catoll cavai Ul Aot Rl A, . (5)
(b) A 8120l stz Bud Rs. 9,00,000 B, Wi al uedl Aell uaui2l wigoll B R, @

6,00,000 8. oA s igell Buddl diate] QA2 fla A A @B N steold wual
Wigoll (Bue decll o uel Rs. 120,006 43 9

© B 53 3 Ao] @B x = 0 BOUA HUctel D ©)
f(x) = Zx:+x X0
=1 ,x=0
OR
Que.l
(a) QR calven 2w e @Bt Yo wa ugyBaloll cavay By, (5)

(b) x = 2 UL At A 5,

7
flx)=5x*-3, x<2

=10x-3, x=2
=8x+1, x>2
() ol Astistl clat AN, (6}
() limyeg S0 (i limeny 2 (i i, i
Que.2
(a) Rsliatset. Rl aud, (5)
() A% U=fuboderg), A=(bod), Bu{acf, C=(deg) M2 WA 52 b “”
({H(AUB) =A'nB (iD(ANB) =A'UB' _
12 k - .
© % |3 -2 5)=-114 82 A k ol B N4 . 6)
-1 3 2
OR
Que.2
(@) o Aol AL UM, 5)
() Wit oL (i) &AL oL (i) Astdl oL vy el UGl (v) YR8 |
(b) Bu2el A ol Aot 2lls200ell Gt A0 | (6)

X +y-11=0,2¢x+5y-16=0
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©R A={234,8={01-1} At Ax BB x AU AxA ol Buct €l

Que.3 _
(@) ABs A Qs a2doll dgteld .

2 -1 3
NOLICE A=[1 1 1
. 2 4 5
(o) ol Dot Rlsel catet A@s A

1 23

A=[-—1 5 4]

3 6 1

WS A2 444 - 20 ot (il ALl

OR
Que3

@) ol Dot Rflsoll cavarl il
() caieet AR5 (i) s ARs (i) &2 ABs vy udlad AR

)@ 4= [g 3] A B = [é :‘é] W2 A% ABUA 24 - 38" .

(o) @it ARseA GuaAA 58l ol Astt w200 Ghet 20,

S5x—-12y=-4, x—-1=06y
Qued

(a) ¥R 8let R oiReotott GUAIN QLA
by o0 2ell 1ilRet M yzetell Acioll G 631 42 atiofl GrR M2 alfls llan Gl

Gur i 15 125 35 145 55
Wloirs) | 105 | 124|135 140 {148

() Glatiorsel] Actel GuAA sAA 2 = 6 HE weell (Bucle] wojHiel 82U

15 |8 ]9 [l
w13 12 |5 |10

OR
Que.4

(a) UctRAetet R WRToiotel A Al ? AeR Aatot A UBTtetoll URRURA %QUR.

| (b) Rugl Rrctzel Fctol Gualol sdlal oAt élhésuia& el Gudl Q.

X i3 10 |15 |20 |25
148 [ 157 | 7 [181 |202

‘ o
(©) ARl WA w2t 7 oll BofHllcd Eud s,
V3= 173 V5 =224, V6 =245

X
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